NT\NIND 1 o 0 s |

[mRE:

ﬁDI

[MBENT\UNIN] M © o v BHENE

A\VJ AW sRat

IFLAI'BAJ\D Bl M6 ELTS YRR R

EEEER

PR R

0%

ISR ~<— (TPE)

98°C

ELT7ZY MRAVF
AR/ ) Ve i i m |

#NH

Ty bRV —
F BERRIER LS —

R

BARTSv Y

AW T L—

ELZZv rRAVE

ELT7Zv Fm/I\VE

Z2V\vZ)b:SUS 304

BNV IV RTAYF

9008

RIVk-Fwvb:a1zZsn0 AWk -FvhiSUS 304 RV -Fv b FTXyF
NV R&RE:SUS 430 NV FAE:SUS 304 N> K&K SPCC KT A v+ = o
Mg TSR MY— (TPE) || #8#8iE: TSAM<— (TPE) || #@#ils: T5Xh<— (TPE) [.E,;H]/D K] [YouTu'be]
1=s0 R | GBS | RIE | RE % Ly c H A>F— | Hifg A ATYLA (NP ATV LABHA
& SG R | W | © |[AWE]| B:N (t) (W) & m & m &
SG10110-0015 15A 21.7 | 25 | 0.6 | W3/8 [M6x25]| 27 | 65.3 1.2 28 |0EN%E 200 SG10112-0015 SG10115-0015 SG10114-0015
SG10110-0020 20A 27.2 | 25 | 0.6 | W3/8 | M6x25| 27 | 68.6 1.2 28 |10@ExN% 200 SG10112-0020 SG10115-0020 SG10114-0020
SG10110-0025 25A 340 | 25 | 0.6 | W3/8 | M6x25|27 | T2.0 1.5 28 |0EN%E 200 SG10112-0025 SG10115-0025 SG10114-0025
SG10110-0032 | 32A | 42.7 | 25 | 0.6 | W3/8 |M6x25|27 | 76.4 | 1.5 28 |16Ex10% 160 SG10112-0032 SG10115-0032 SG10114-0032
SG10110-0040 40A 48.6 | 25 | 0.6 | W3/8 | M6x25|27 | 79.4 1.5 28 |[1EXI0% 140 SG10112-0040 SG10115-0040 SG10114-0040
SG10110-0050 | 50A | 60.5 | 25 | 0.6 | W3/8 |M6x25)|27 | 85.4 | 1.7 28 | 10f@Ex10% 100 SG10112-0050 SG10115-0050 SG10114-0050
SG10110-0065 65A 76.3 | 25 1.0 | W3/8 | M8x25| 27 | 95.4 2.0 28 80 SG10112-0065 SG10115-0065 SG10114-0065
SG10110-0080 | 80A | 89.1 | 25 | 1.0 | W3/8 | M8x25|27 | 101.8 | 2.0 28 60 SG10112-0080 SG10115-0080 SG10114-0080
SG10110-0700 | 100A | 114.3 | 25 1.0 | W3/8 | M8x25| 27 | 114.4| 2.0 28 40 SG10112-0100 SG10115-0100 SG10114-0100
SG10110-0125 | 125A | 139.8 | 32 | 1.5 | W1/2 |M10%35| 45 | 153.3| 2.5 35 20 SG10112-0125 SG10115-0125 SG10114-0125
SG10110-0150 | 150A | 165.2| 32 1.5 | W1/2 [M10x35] 45 | 166. 1 2.5 35 15 SG10112-0150 SG10115-0150 SG10114-0150

IFLAI'BAJ\DI

NHfF ELZSwy bV F

EZEaER

0%

IZAIT—

(TPE) 98°C

fEFRIR R

Fv bRIbE—
F NSRRI AL S —

He - Ty b=

ELTZvy IV K

ELZSv b\ K

ELZZv bV E

AW 7')b—

BART SV

AVF—t

HREt

9009

Hihs W’

RIVk-Fvbk:a1zs0 Rk -FvFiSUS 304 RIVE - Fv b FTXYF
NV RAEEKISUS 430 NV RFEISUS 304 N RAfR D SPCC RT Xy
s : TSAM— (TPE) Hafgis : TS A h<— (TPE) s : TS A MT— (TPE) E
[YouTube]

a=sn R | GBS | RIE | RE p Liang c H AF— | Bifg A% RA7FV LR R Xy F 27V L ABNE

& SG BE | W | B:N (t) W) m & @ & m &
SG10210-0015 15A | 21.7 1 25 | 0.6 | 20 M6x20 | 47 | 58.2 1.2 28 [0EX0% 200 SG10211-0015 SG10215-0015 SG10214-0015
SG10210-0020 | 20A | 27.2 | 25 | 0.6 | 20 M6Xx20 | 47 | 61.1 1.2 28 [10Ex20% 200 SG10211-0020 SG10215-0020 SG10214-0020
SG10210-0025 | 25A | 34.0 | 25 | 0.6 | 20 M6x20 | 47 | 64.9 1.5 28 |0ExN%E 200 SG10211-0025 SG10215-0025 SG10214-0025
SG10210-0032 | 32A | 42.7 | 25 | 0.6 | 20 M6Xx20 | 47 | 69.4 1.5 28 |1fEx10% 160 SG10211-0032 SG10215-0032 SG10214-0032
SG10210-0040 | 40A | 48.6 | 25 | 0.6 | 20 M6x20 | 47 | T2.4 1.5 28 |14Ex0% 140 SG10211-0040 SG10215-0040 SG10214-0040
SG10210-0050 | 50A | 60.5 | 25 | 0.6 | 20 M6Xx20 | 47 | 78.6 1.7 28 |10Ex10% 100 SG10211-0050 SG10215-0050 SG10214-0050
SG10210-0065 | 65A | 76.3 | 25 | 1.0 | 20 M6x20 | 47 | 87.8 2.0 28 60 SG10211-0065 SG10215-0065 SG10214-0065
SG10210-0080 | 80A | 89.1 | 25 | 1.0 | 20 M6x20 | 47 | 94.3 2.0 28 50 SG10211-0080 SG10215-0080 SG10214-0080
SG10210-0700 | 100A | 114.3] 25 | 1.0 | 20 M6Xx20 | 47 | 106.9 2.0 28 30 SG10211-0100 SG10215-0100 SG10214-0100
SG10210-0125 | 125A | 139.8 | 32 | 1.5 | 25 | M10x35 | 65 | 138.3 2.5 35 20 SG10211-0125 SG10215-0125 SG10214-0125
SG10210-0150 | 150A | 165.2 ] 32 | 1.5 | 25 | M10X35 | 65 | 151.0 2.5 35 15 SG10211-0150 SG10215-0150 SG10214-0150

No
w



